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Q.1: lgiVlxo axig lgosd dlulg Jlgall (e oysill Mark(s): 5/5

— 6 — 2 ) =6 — —2 g
Fh(x)=6-7—, h(x) =6 — — «is1y
find the value of h (—3). ch(—3) A a4l

Learning Outcomes Covered

o MAT.5.06.05.001




Q.2: 432l SVsleell J>g lgldxiy Wil )izl Jlgl Juled Mark(s): 5/5

Solve the equation 3/2x + 4 + 3 = 5. A2xF 443 =54 A

Learning Outcomes Covered

o MAT.5.07.02.001
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Q.3: ***** BONUS *****qiliaJl JlgJI cuShl 23U >l Mark(s): 4/4

Find the value of the expression ail) Al an
sin~! (cos E) in~1 T
5 ) .sin (cos E)

Learning Outcomes Covered

o MAT.5.04.01.006






Q.4: OVleall = dwaly)legll Jlgal) aslg) a>lg duols gubi Mark(s): 5/5

Solve the equation Aalaal) Ja
logs(9x) = logs7+logs(x + 2). . logs(9x) = logs7+logs(x + 2)

Learning Outcomes Covered

o MAT.5.03.02.005

T T T T



Q.5: Slaiy)ley) poudli (il yuleill aud Sl Mark(s): 5/5

Evaluate the expression 3 In e>. .3Ine’ ol dod aa

Learning Outcomes Covered

o MAT.2.07.01.015

<




Q.6: 4 glyl dailal OUlial J> Mark(s): 0/5

~
The London Eye is a 135 m - tall e i) saalin ddac oo fHlas Al e
observation wheel. .135m
If a passenger at the top of the csl) Adaal) u"‘" o CJfJéL“‘I' S 1
wheel sights the London Aquarium L8 aliddl duglys Gl el Gaga
at a 58° angle of depression, what <=3 ¢ dlad Gaga (o Al Lad (58°
is the distance between the foul
aquarium and the London Eye?
[ i/ 58° v

Learning Outcomes Covered :

o MAT.3.12.03.002

b.

C.

84 m




Q.7: duudd! OVl J> Mark(s): 5/5

Solve the equation Aalaal) Ja
6 6

x——=1 ===
X X

Learning Outcomes Covered

o MAT.2.02.24.001

|




Q.8: dyglj sV dyiliol] il pss Sl

Find the value of the expression

i 3T
sin—.
4

Mark(s): 5/5

el dasd ]
; 3T
.sin—

4

Learning Outcomes Covered

o MAT.3.12.03.005

-




Q.9: gl Veliag 130 gouwdii Jilwe J>

If AED 1,000 is invested in
an online savings account earning

6% per year compounded

Mark(s): 0/5

b gﬁ AED 1,000 Ll as 13
S el 3 6% il e (s i
e a8 ¢ il 4 AagdpaS Asils)

continuously, how much will be in dla i al 1) alsef 10 Bae dulgs 8 cilead)

the account at the end of 10 years fgal cligan o clely)
if there are no other deposits or

withdrawals?

Learning Outcomes Covered

o MAT.5.03.02.002

AED 1,806.11

b. P ERAYY la
AED 1,822.12 2024
= 9
| AED 1,820.03

AED 1,819.40




Q.10: ***** BONUS ***** ol )le gl yailos Fubi Mark(s): 0/4

Condense the expression el Jaly
1 1
2logg(3x) — = logg(2x + 1). .2logg(3x) — = logg(2x + 1)

Learning Outcomes Covered

o MAT.2.07.01.013




Q11: Jolallg (SWI i ybai plasiwl Mark(s): 0/5

Which is a factor of Jdale g L Laa
4 3 2
x* —2x° + 24x° — 18x — 5? ext —2x3 +24x2 —18x — 5

Learning Outcomes Covered

o MAT.5.02.06.004




Q.12: Jlgl wwusyi sl Mark(s): 5/5

Given f(x) = ﬁ and 3 f(x)= ;11 O ok
g(x) = x* — 4, find [f > g] (%) [f e g1(x) 5si g (x) = x% — 4

Learning Outcomes Covered

o MAT.5.06.05.007

If o gl(x) =

xZ+3




Determine all the real zeros of Aol Agdal) Maa) asan ads
the function J(@) =25 + 7xt —18a3

f(x) = x>+ 7x* — 18x3.

Learning Outcomes Covered

o MAT.5.02.06.001




Q.14: Lilug G y> duwssll Jlgall sl Mark(s): 5/5

Use the graph of the function f(x) to adatl f (o) Al Alall Jatl) ardid .
determine the graph of its inverse Asel) gl g.'ﬂ:\:\ﬂ Juiaill
function.

LY

4

2 y=1fx)

5 1 2 0 / : 4 6x
y I
v

Learning Outcomes Covered

o MAT.5.06.05.009










Q.15: Jlg I pu 385 o Jlgal dwilidl SWied] ol asiiwl Mark(s): 5/5

Use the graph of the function f(x) Alag) A f (o) Al Sl Jaail) padiad
to find its y —intercept. Y Y sl aa gakiles

!‘
O
xY

f) = x% + 5x+ 61

Learning Outcomes Covered
—

o MAT.5.06.05.002

6 Q!



Q.16: ***** BONUS *****34 12| 43S Jlgall dxSyall lauoll sl Mark(s): 0/4

Find all the zeros of DA Jaal) aan 23
f(x) = x* + x> — 12 given that O aledl aa f(x) = xt + 4% — 12
2iis a zero of f. f A ka2

Learning Outcomes Covered

o MAT.5.02.06.006

—V3,x = /3, x = —/2i,x = /2i




Q17: Gugdll Job sl] v Gaubilly guSsJl gusSslly gl Wl Syl o Lyl Slwlis Jyg=i Mark(s): 0/5

Identify all angles that are coterminal = a. ¢lgi¥) alia 93 Agyidall LigHl asan ada
with the angle 225°. . 225° 4y

Learning Outcomes Covered

o MAT.3.12.03.003

C.

225° + 360n°




Q.18: ***** BONUS *****|laa.n 99 Gily lgluiaiy diko¥l Jlgall Jul=i Mark(s): 0/4

>

Identify the parent function f(x) of g(x) 2 fx) Ll Aay ads
g(x).

Learning Outcomes COM

o MAT.5.06.05.004







Q.19: ***** BONUS ***** L=l Jlga) &\ g2l Juied Sine ploill cu> gCosine Wily Mark(s): 0/4

Identify the equation represented by sl Jiail) lglias AY) ddalead) ada

=T

Learning Outcomes Covered

o MAT.5.04.01.001

2 &N
y = 2sin4x

Yy = 4sin 2x




Q.20: dySyill dowwilly Wgholl domill plaziuwl 3915l 58 Jlg )l dows Mark(s): 0/5

Divide. ped
(5x*—8x3—-3x2+2)+ (x—2) (5x* —8x3 —-3x2+2)+ (x —2)

Learning Outcomes Covered

o MAT.5.02.06.003

30
x—2

5x3 +2x2 +x+2+

30

5x3 +2x*+7x+ 14 +
xX—2

c. D B
6
5 +2x+x+2+

P

- i .

x—2

6
xX—2

5x3 +2x%2 4+ 7x+ 14 +




Q.21: 3932l 8)iS Oluliall J> Mark(s): 0/5

Solve the inequality dilia) Ja
(x—6)(x+2)>0. (x—6)(x+2)>0

Learning Outcomes Covered
o MAT.2.02.25.001




Q.22: Jlgall yball Jebudl ciuog) Ol plasiuwl

Which of the following statements

could be used to describe the end

behavior of f(x)?

Mark(s): 5/5

,— Flx) =

N
lgaladind G L) bl
¢f () Al k) dgld) auagl
X
W

Learning Outcomes Covered_z

o MAT.6.01.01.002

lim f(x) = —oo, lim f(x) =—

X—»—00

lim f(x) = oo, lim fx) = —

X——00




lim f(x) = oo, E‘g f(x) = o0

X—>—00




Q.23: ailiall Olylbiell duo (o Gaxil Mark(s): 5/5

Which identity is true? fdasaal) dithial L

Learning Outcomes Covered
o MAT.2.02.28.003

cos b6 N cos 6
1+sinf 1-—siné@

= —2sec?d

cos @ cos 0
= 2secH

cos 0 cos 6

_ 2
1+sing 1_sing 2S¢ @

cos @ N cos @
1+sin@ 1-—siné@

= —2secO




Q.24: Lo dlaJ il Jaso buwgio Sl Mark(s): 0/5

Find the average rate of change of Al uanl Jaea Jacigia Aol
f(x) = +vx — 6 on the interval [7,15]. .[7,15] 3zal (_!a fx)=vx—6

Learning Outcomes Covered

o MAT.6.01.01.004

b QV "%




Q.25: dgiliall il o dlzY dpwluwll dliall OliyUaiell plaiiwly iz Mark(s): 0/5

Given that sing = - and tan 6 < 0, tan® < 0 ysing = of Gaji
find the value of cot 0. .cot B dad sl

Learning Outcomes Covered

o MAT.2.02.28.001




